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If I know... then
T also know.

The digit sum of muttiples
of6is3,60rq

Al muttiples of 6 are even
numbers.

The digit sum of multiples
ofqisq

An odd number multiplied
by 9 gives an odd product.

An odd number muttiplied
by 7 gives an odd product.

An even number muttiplied
by 7 gives an even
product.

64%x0=0
‘The product of a number
is zero.

andzerois

64 x1=64
‘The product of a number
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4x1=4=112%4
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axiiZ@oiiXs [|Ifthe dgts are the same
Axi= =1x3 N then a2-digit number is
DRIl [ dvibleby 11
KM=M=M!‘.

An odd number muttiplied by
11 gives an odd product.

A number is divisible by 12
ifit is divisible by 8 and 4

All mutiples of 12 are

M

If I know... then
T also know.

6x2x6=60=6x2x5

5%2%6 6X2X6
=10x6 =6x12 =2x90
=60 =60

If T know 24 = 6 = 4)
then I also know

then T also know...
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12 divided equally into »
Half of 6 is 3 8groups is The groups 12 divided equally - four =
f 4 in each group are equal into groups of 3 ere are four s
6 sha;eg(: equalg into is 4 groups in twelve
3in each group 4 T 4 7 ] +8 +8 +3 +3
6 q
—

*III
30 is ten times smaler than 300
20 divided by ten is 2

@go

IfTknow..
then T also know. |
because.

08x7=8x7=+10

42x5=42+2 66,000 + 80 = 700

0134r3
24/31339

0139425
24[373'39°000

3339 = 24 = 139r3 = 1393
=13913 ( to 2dp)

52+4
=40+4+12+4
=10+3

g

T know that 40 is 10 groups of 4

TrIknon24 - 426N @ @)®)@)/(@(@ @ 104 -
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Factor, factor, product

There is a repeating
pattern of 0, 2, 4,6,8
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Three groups of four dveemya
| 4+4+4=12
4 muttiplied by 3
4x3=12
3 groups of 4
3x4=12 Multiples of 10 all have

zero in the ones column.

The products of 10 are
‘even numbers.
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12 divided equally
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| into 3 groups : ;
12:3=4 jieEtel
12 divided equally PH DY [itikostatoitig
into groups of 3 * * 248 The product of an even
+3 number and § is even.
12 How many 3s
in twelve?

This product is licensed for exclusive use by The Purchasing Institution

POTIRS

ESse

=,
ropor

3388

EBaw

s@pnol

2 2

yEEBamy

I

IfT know.. then
I aiso know...

The digit sum of multiples
of3is3,60rq

An odd number multiplied
by 3 gives an odd product.

Al multiples of 4 are even
numbers.

There is a repeating
pattern in the ones
column: 0, 4,8,2,6

Al muttiples of 8 are even
numbers.

Al muttiples of 8 are also
muttiples of 2 and 4

on

16 18 20 22 24

10, 1, 10

2x6=10
10=2x6
10+2=5
5=10+2

10, 10,100 10, 3, 30

8 4 120 1

1
12

ig:?g IfT know... then
10-5=2 T also know.
2=10+5

10, 11, 110

10, 5, 50 10, 6, 60 10, 9, 90

10 20 30 40

10,12, 120 10, 7, 70
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50 60 70 80 90 100 110 120
T
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